RD smsvs-
REAR

—

™

.
.
s

D UF ik EHRbHAR - - - 0 258
| EiHRR. O S 259
gt = 260
AZROYRIUR: & o o e e e e e e e e 261
S AT T T 261
BIESETEIE .+ v e e e e e e e e e 262

= Il 7/ gt}

257




JFC
2 25—tk

RD HhE) /53—

S —RES RD70 RD160
BEHEREN 70kgf/cm?(7MPa) 160kgf/cm?(16MPa)
HERTHE A 105kgf/cm?(14MPa) 240kgf/cm?(24MPa)
& — BB —IL -10°~80°C
BERE mamsmrLh UK -30°~150°C
A kO—% HRE 2 bkO—% HRE
A FO—bES0 <100 i 631~1000 N
HEE +1.0 +1.6
(mm) 101~250 0 1001~1600 0
251~630 e 1601~2000 A
1AEARHE. EBEEA100mMMSISESIEEEY v a VEBNBE,
2AEBNREH200mm/sE B R HIBAIE, SRS v a L DBEEHE,
.. 309l aviEsRT: (WN(RIFERS) . syviavil
Vv a Vi Q)B:MEIY v 3 AtE
@R Ay FAINZY v aftE
BDH: A~y RENZO v g oftE
D3 — BB SR M B L% >adL(PU) = kYT L (NBR) ZvxdL (FPM)
v (T:R68) ° o .
B X
;‘% P KA X o °
&5 |WOESH OW/EE)H X ® -
" Y UBAT R 7L RIEBE X X o

EEFTES

EX ~r2E@EE (cm?) it (kgf)
R . 5|18 fEREA 70(kgf/cm?) {EREA 160(kgf/cm?)
(mm) L Oy K 17 Ay kR 1R Ay K&
{1 L L
cay Kk |BAYFK {8y coy k| |BEY K 18y coy Kk |BayFK
25 4.9 2.9 2.4 344 203 165 785 464 378
32 8 55 4.2 563 385 297 1287 880 649
40 12.6 8.8 6.4 880 614 449 2011 1402 1025
50 19.3 13.4 9.5 1374 943 662 3142 2156 1513
63 31.2 21 15.3 2182 1470 1069 | 4988 3359 | 2443
80 50.3 344 25.6 3519 2405 1794 8042 5498 | 4102
100 78.5 53.9 40.1 5498 | 3774 | 2804 | 12566 | 8626 | 6409
125 122.7 | 84.2 59.1 8590 5896 | 4137 | 19635 | 13477 | 9456
160 2011 | 1374 106 14074 | 9621 7422 | 32170 | 21991 | 16965
200 314.2 | 219.1 | 160.2 | 21991 | 15339 | 11215 | 50256 | 35060 | 25635
250 490.9 | 336.9 | 236.4 | 34361 | 23586 | 16548 | 78540 | 53910 | 37825
320 804.2 | 549.8 | 4241 | 56297 | 38485 | 29688 | 128680 | 87965 | 67858
400 1256.6 | 876.5 | 640.9 | 87965 | 61355 | 44862 | 201062 [140241 102542
500 1963.5 | 1963.5 | 1347.7 | 137445 | 94342 | 66193 | 314159 215639 (151299

258

\

o OAW

—g =\ —g\ =\
-3 >\ u

\

= S\LIIN
2ANIIEF L\ NN

~
<

al

i

&\\—\Q\'C\"H

~,
ju|

\—\mvcvam

\ — S\ — SN — O \




JFC RD h& ) 48—

ISO &= % W & ISO &&= B W i

I(\AS%?) E5¥ 'EEE&"i ¢ '(\ACF,)S 15 L E R R ¢ oE
e e T R o=
wn | om | ol Rl | ug | s | il
s e sl R W |, SRR
e R =

ISO &= 1SO1179-1 1SO6149-1 ISO6164 1SO6162-1
2% G M F MM
ERFTRL A—HkiLRL EAMRISVD RAM ISV

| e

- ow
w

EA

w
[

)| Lo "8 A
o ©

EB

&
N

B%| EE | EC EE Ec | FF |EA| ED | 5| oas|ios| ED
F 1.5|+025|+025
Mz &%) &% | BH

25 G4 | 75 Midx15 | 756 | - | - - T - -
32 G3/8 9 Mi8x15 | 11 1 - N B -
B2 | 14 M22x15 | 14 | - | - : -] - ]
&3 G3/4 18 M27x2 18 | 15 |20.7| M8x1.25 | 12 | 17.5 | 38.1 | M8x12.5
192 G1 23 M33x2 23 | 20 |354| M8x1.25 | 20 | 22.3 | 47.6 | M10x1.5
180 et | 30 M42x2 30 | 25 |43.8| M10x1.5 | 25 | 26.2 | 52.4 | M10x1.5
20 letiz| 36 M48x2 36 | 32 |51.6| M12x1.75| 32 | 30.2 | 58.7 | M10x1.5
200 - - MeOx2 | 46 | 38 |60.1| Miex2 | 38 | 35.7 | 69.9 | M12x1.75

259



\

d) 25—
JFC RD hEIUY >
) 4
= ~H
S ins B %5
| F
e Yk o |5k =
IJ ‘/o
b
cT . \
CW, FW CW, CRP FW 45 9' Z
—— — v / [4
| | ; W o ) L
L
: (1
27
., . \L/ 22
— ) ~ S
: G101 |8 |2 : 77
0.1 — S8
2CD 005 B N S| | 9 CDO s J ’é‘
O >~
, © 55
| x4
A\ | R
KK CF KK \ U
ty bR CHRE—X @ CF £y bR LHAE—X /
il
= Fi
sl KK FW CA cc RA CF >
CD|CT|ER|CW|RP | RR ')
mE\| CAYF | BAYF Y Y| LY [ Y [y | ;
|
25 | M12x1.25 | M14x1.5 49 | 69| 24 |24 | 65| 85|32 |38| 16| 45|16 125 8 | 8 %
+0.4 -0.1 a
32 | M14x1.5 | M16x1.5 | 2075 |20 5, | 49| 69|24 | 24 | 65| 85| 32| 38| 16| 45| 16 [12.5| 8 | 8 ik
I
2
40 | M16x1.5 | M20x1.5 49 | 69| 24 |24 | 65| 85|32 |38| 16| 45|16 125 8 | 8 3
%
+0.4 -0.1 4
50 | M20x1.5 | M27x2 | 25%3* | 2570, | 60 | 80 | 35 | 30 | 80 [100| 40 | 44 | 20 | 55 [ 20 | 15 | 10 | 10 g7
|
63 | M27x2 | M33x2 75 | 105| 40 | 45 | 105|135 60 | 60 |31.5| 63 | 30 [16.5 15| 15| | ——ue
+0.4 -0.1
30*94 (3001
80 | M33x2 | M42x2 75 [105| 40 | 45 | 105|135| 60 | 60 |31.5/ 63 | 30 |16.5| 15 | 15
100 | Ma2x2 | M48x2 | 40*5* | 4070} |100|120| 50 | 50 [140|160| 70 | 70 | 40 | 78 | 40 | 19 | 20 | 20
125 | M48x2 | M64x3 | 63*3* |63 0} |180/180| 70 | 65 | 230|230| 100| 100| 50 |126| 50 |31.5( 25 | 25 —
160 | M64x3 | M80x3 | 8073 | 80 704 |240(240(100| 90 |310|310| 140 140| 71 [160| 70 | 40 | 35 | 35 Ej%
m|
200 | M80x3 M100x3 210(210|115|115|300|300|180| 180| 90 |225| 90 | 50 | 45 | 45 /)[l
+0.6 -0.1
125%9° 125 5% J
250 | M100x3 | M125x4 245(245| 125|125 | 345| 345|200| 200| 100|251[100| 63 | 50 | 50 |
>
')
1

260



JFC RD HhEIY 45—

R—ILTaA >k (1ISO-6982 & DIN-24338(Z #EHL)

DIN-24338AR & F& 1SO-6982
S1
S
|
< : 0
4
Q O -Hirt<s
i !
|
!
_ !
|
E
D3
DA Q S
V2~ LR
RNE RME F D S, | L D1 D2 D3 D4 S S2 L1 LF
o5 PR-12CE M12x1.25 12 12 38 54 32 32 16 |15.5| 11 15 14 17
PR-16CE M14x1.5
16 16 44 64 40 40 21 20 [13.8| 15 20 19
30 PR-16CE M14x1.5
PR-20CE M16x1.5
20 20 52 75 47 47 25 25 |(17.8|18.7 | 22 23
40 PR-20CE M16x1.5
PR-25CE M20x1.5
25 25 65 96 58 54 30 [30.5(21.9| 19 27 29
50 PR-25CE M20x1.5
PR-32CE M27x2 32 32 80 119 71 66 38 38 28 22 32 37
63 PR-32CE M27x2
PR-40CE M33x2 40 40 97 146 90 80 47 46 33 26 41 46
80 PR-40CE M33x2
PR-50CE M42x2 50 50 | 120 | 180 | 109 96 58 57 41 32 50 57
100 PR-50CE M42x2
PREERICE g 63 63 | 140 | 212 | 132 (114 | 70 |71.5| 53 38 62 64
195 PR-63CE M48x2
PR-80CE M64x3 80 80 | 180 | 271 | 169 | 148 90 91 67 48 78 86
160 PR-80CE M64x3
PR-100CE M80x3
100 | 100 | 210 | 323 | 211 | 178 | 110 | 113 | 85 62 98 96
200 PR-100CE M80x3
PR-125CE M100x3 125 | 125 | 260 | 406 | 264 | 200 | 135 | 138 | 103 72 120 | 113
250 PR-125CE M100x3
PR-160CE M125x4 160 | 160 | 310 | 488 | 326 | 250 | 165 | 177 | 130 82 150 | 126

261



JFC

3B E XS

RD HhE) /45—

gy auftE

Foviasil
BED ) H—
[IZ2OWWTlE, Ay
Rhm—EAy R
H—D5NELAH
A0 ERRYFE
ITOT. BAWE
htE< L,

RD 1 70 J C CA 63
| l l l l l
S,0) —
S0Z%T || muES | [suvs—te| | nvre xR R
l l l l l l
:) % & | | 70:70 HZBHE?JL% CHiLay F MOO: £ AH(SD) 25:25mm
Do ¥ 2 At (IE#EMAHRD701E - .
$EE affem STt/ MEm || cov Ficmm) | |[MPT By FRIDS 2 IRE | 32:32mm |
B 160160 | [ 7B Jlaxumy ¢ MF2: Ay FEIZS ¥ SR(B) —gg.ggmm
giiem (A HHERD160IZ : — -50mm
Ow Kie A VTR _
B Kizam) | o 0 FRIRBIS > IREC) | M3 s3mm
RD70 MF4: ~ v FEIFF 75 > SBED) | [go80mm |
(EUEHTO) (2 — | ooeomm |
BOw K. £7-I% MP3: 1147 L E Xf4(CA) 100:100mm
RD160 MP5: 1114 L E R EkEE#Z2(CAB) | | 125:125mm
FEUEF1160) 12 ]
((:D W I\:& :ﬁtﬂga) MS2§E|E@7]_|E| J— }‘ﬂZ(LA) 160:160mm
HEk, EXREIZD MT4: GRS f‘a:jﬂ/ﬁ?(TC) 200:200mm
HETEL. 250:250mm
320:320mm
400:400mm
500:500mm |
200ST B B Y u RC
l l l l
Abka—4 v a gk o= R— bk
l l l l
) BT - RER Y: Y%k RC: EAF—/\—hl
= W g i
# @ v2a RO G AT
®» B: : .
< 5yiavfx | |[PRCE: M: A— kLt
= < il | 2 B GV X . -
= R:Ow K FIEEARISVD
c b am g | | (180-6982&
I DIN24338[#4L) | | MM: RAR TS
C Hiny R
%

262

—g =\ —g\ =\
3>\ u ¢ OAN

\

a ANESANANANRN AN,
2ANIMEF L NNy

S~
<

f\\—\%\'c‘(’lﬁ'%\\

~,
ju|

\—\L‘u\' S\ REHE

/

58

)|

i

3

y

!

2

%

~Z

,)r
/




JFC RD h& ) 48—

e MO0 HZHz(SD)

Y —— PJ+R hO—%
VG | 2-EE

B
oMM
KK
S —
aC
2D

A ZB+A kA—%

)\
\
w \ = "
X - : s
\
Y
_2-9DH /| vg ASRIEE X
ko) Cc k=1 C Hin= MM XF DH
cC | B | T c | B | T , c.| B | C. | B _ | C_ | B
RE Ay k| ayk HE Ay k| ayk ke Ay F|AyF|AyF|AyF|AYK|[AYF
25 40 40 | <2 125 140 | 145 3 125 70 90 — 88 — 10
32 52 52 | <2 160 178 | 185 3 160 90 | 110 | 88 | 108 | 10 12
40 55 65 | <2 200 216 | 232 | <3 200 110 | 140 | 108 | 138 | 12 12
50 65 75 | =2 250 267 | 298 4 250 140 | 180 | 138 | 178 | 12 12
63 76 88 | =2 320 352 | 380 4 320 180 | 220 | 178 | 218 | 12 14
80 95 95 | =2 400 - = 4 400 220 | 280 | 218 | 278 | 14 16
100 114 | 122 | <2 500 - - 4 500 280 | 360 | 278 | 358 | 16 16
) cayk BOw K B D s YG
- <1751 EE (eT15 Y |VE|[WF|PJ|2ZB H
RE\ | MM KK A | MM KK A | CAYF|BEYE |gyklnsp oy Koy K C|B
25 | 16 | M12x1.25 | 16 | 18 | M14x1.5| 18 M30x1.5 35 |RC1/8 |14 |16 |58 | 15| 28 | 77 |150| 12 7
32 | 18 | M14x1.5 | 18 | 22 | M16x1.5 | 22 M35x1.5 45 |RC1/4 |16 |17 |64 |19 |32 | 89 [170| 12 8
40 |22 | M16x1.5 |22 | 28 | M20x1.5 | 28 M45x1.5 55 17 |23 |71 |19 |32 | 97 [190| 12 10
RC3/8
50 | 28 | M20x1.5 | 28 | 36 | M27x2 | 36 M55x1.5 65 23 (32|72 24|38 111|205 12 11
63 | 36 | M27x2 36 | 45 | M33x2 | 45 M65x2 76 32 39|82 |29|45 [117|224| 12 12
RC1/2
80 | 45 | M33x2 45 | 56 | M42x2 | 56 M80x2 95 39|50 |91 [36|54 134|250 14 15
100 | 56 | M42x2 56 | 70 | M48x2 | 63 M100x2 114 50 | 64 |108| 37 | 57 [162|300| 16 18
RC3/4
125 | 70 | M48x2 63 | 90 | M64x3 | 85 M125x2 140 | 145 64 | - [121]37 | 60 [174|325| 16 | 20 | 21
160 | 90 | M64x3 85 | 112 | M80x3 | 95 M160x3 178 | 185 - | - |143| 41 |66 [191]370| 20| 20 | 25
RC1
200 |110| M80x3 95 | 140 | M100x3 | 112 M200x3 216 | 232 - | - |190| 45 | 75 |224|450| 24 | 24 | 29
250 [140| M100x3 |112| 180 | M125x4 | 125 | M240x4 | M260x4 | 267 | 298 - | - |- |e64l96| - |550| 24|24 | 32
RC1 1/4
320 |180| M125x4 |125| 220 | M160x4 | 160 | M320x4 | M340x4 |352 | 380 - | - | - |71[108| - |660| 24| 24 | 35
400 [220| M160x4 |160| 280 | M200x4 | 200 = = = | = - | - | - 90 [130| - |740| 30| 30 | -
RC11/2
500 |280| M200x4 |200| 360 | M250x6 | 250 - = — |- - | - | - [110[163| - |890| 30| 30 | -

263



\

F N )~ 9“

J C RD 311;’_-*::/' S A= !
) A
y=

DA N N, 9\ v
VAN B NS | R
e MF1 O FEIZ S > IR (FA) =
)Y
‘ PJ+ZX kO—% 7
4-gFB ‘ 2-EE g“b
= “r AL T
A2 B\ s A I P
| / \\ |
N 22 7 0 2 —
| ‘\ \&J //, | S N 77777 22
e S T T : i
i \\\, »_/// [ e — - ) >
Vo 77
TF W | ME :/;VIZAI
Uk A WE ZB+R hO—% 1) B
Y2
’f‘ 1
. oL s ~
eEX krAayw KEDIOLLED R /N\FETEE N
\
-,\. = /
% Y s &
S \ S #
\ o
AERIE E X 1)
2-gDH YG VY
.
p—
=) C w2 MM XF DH A/
, C T p © B c B c B
ki3 =ANEPEN nE By Rlay FlAay Flay Koy FAay F &
25 40 | 40 | <2 125 |70 | 90 | - | 88 | - |10
32 52 | 52 2 160 90 |110| 88 | 108 | 10 | 12
40 55 | 65 2 200 |110 | 140|108 | 138 | 12 | 12
50 65 | 75 |2 250 |140 | 180|138 | 178 | 12 | 12
63 76 | 88 | <2 320 | 180 | 220|178 | 218 | 12 | 14
£ iE | e | s 400 |220 | 280|218 | 278 | 14 | 16
100 | 114 | 122 | <2
500 |280 | 360|278 |358| 16 | 16
125 | 140 | 145 | <3
s coyk BOwy K D
BreT1pg | EE |VD|MF|W |WF|FB|E | R |TF|UF|PJ|ZB
HE MM KK A MM KK |A A
25 |16|M12x1.25/16 |18 |M14x1.5[18|32| 35 |RC1/8| 3 |12|16|28|6.6/45 |28 |69 |85 |77 |150
32  [18|M14x1.5 |18 |22|M16x1.5/22|40| 42 |RC1/4| 3 |16|16|32| 9 |55 |35 |85 [105| 89 |170
40 |22|M16x1.5 |22 |28 |M20x1.5(28(50| 55 3 |16|16|32| 9 |60 |40|98|115/97[190
RC3/8
50 |28|M20x1.5 |28 |36|M27x2 |36|60| 65 4 |20 |18 (38|11 |72 48|116/140/111|205
63 [36|M27x2 |36 |45|M33x2 |45|70| 76 4 |25|20 |45 |14 |82 |55|134/160/117|224
RC1/2
80 |45|M33x2 |45 |56|M42x2 [56(85| 95 4 |32|22|54|18[100| 63 |152|185|134|250
100 |56|M42x2 |56 |70 |(M48x2 |63[106| 114 5 |32 |25 |57 | 22 |120| 76 |185|225/162|300
RC3/4
125 |70|M48x2 |63 |90|M64x3 |85[132|140 [145 5 (32|28 |60 |22 |150| 90 [217|255(174|325

264



JFC RD h& 48—

o MF2 ~vw FAIZ 5 > # (FB)
) PJ+RX kB—%
‘ 2-EE
T e ] ! 7 SO ‘
HE= o AN @
i !/ \\\\ i
Sl¢ v\ O o \‘/v’ A\
v Q S H‘ H oL
S N 77777 ‘ \\\\ /«// r}\
fffff & Nl <
WF ME TE 4-0FB
A ZF+ X kA—% UF
eEX Oy FEDIOLEDR/NFETEK
\
: i
& d} L2
S \ S}
/ ‘\‘
: AERIEE X
2-¢DH YG
iy C T iy MM XF DH
, T B ) C B C B G B
miE Ay KAy miE Ay KAy KAy KAy AYEFAYF
25 40 | 40 | =<2 125, | 70 | 90 | — | 88 | — |10
32 52 | 52 | =2 160 90 | 110| 88 [ 108 | 10 | 12
40 55 | 65 | =2 200 |110 | 140|108 | 138 | 12 | 12
50 65 | 75 | =2 250 | 140 |180|138 | 178 | 12 | 12
63 |76 | 88 |<2 320 |180 220 178 | 218 | 12 | 14
S0 B e == 400 |220 | 280|218 |278| 14 | 16
100 <2
114 | 122 500 |280 |360|278|358| 16 | 16
125 | 140 | 145 | <3
Ecs cay R BOwy K D
=751 EE |MF|FB| R | E |TF|UF|WF|PJ|ZF
m1E MM| KK A [MM| KK A S klad e
25 16 | M12x1.25 16 | 18 | M14x1.5 | 18 35 RC1/8 |12 |6.6|28 |45 | 69| 85| 28 | 77 |162
32 18 | M14x1.5 |18 |22 | M16x1.5 | 22 42 RC1/4|16 | 9 | 35|55 |85 |105| 32 | 89 [186
40 22 | M16x1.5 |22 28 | M20x1.5 | 28 55 16 | 9 |40 |60 | 98 [115| 32 | 97 |206
RC3/8
50 28 | M20x1.5 |28 36| M27x2 |36 65 20 | 11 | 48 | 72 |116|140]| 38 |111|225
63 36 | M27x2 |36 45| M33x2 | 45 76 25 | 14 | 55 | 82 [134|160| 45 [117|249
RC1/2
80 45| M33x2 |45| 56| M42x2 |56 95 32 | 18 | 63 [100|152|185| 54 [134 282
100 |56 | M42x2 |56|70| M48x2 |63| 114 32 | 22 | 76 [120|185|225| 57 |162|332
RC3/4
125 |70 | M48x2 |63 | 90| MB4x3 |85|140 |145 32 | 22 | 90 [150|217|255| 60 |174|357

265



JFC

RD HhE) /58—

PJ+R bO—%
2-EE
n o
' ! ! } :'w
O a
Q) Q|
ZB+R kO—2%
k=] C - k=] C T
C | B ) C | B
Ay rayFE W oy KAy FE
25 | 40 | 40 |<2 | 125 | 140|145
32 | 52 | 52 [<2| 160 |178 185
AERIE E X 40 | 55 | 65 |<2 | 200 |216|232|<
. . . . . 50 | 65 | 75 |<2 | 250 |267|298|<
e EX Oy FEGIOLLEDR/NF
- s — . 63 | 76 | 88 |<2 | 320 |352|380 <
BTERIESDEAREZ= ZSHBCIEE0LY,
80 | 95 | 95 | <2 | 400 - - |=a
100 |114 |122 | <2 | 500 - -
k=g cayFk Baw F
B g T5 EE |VD|NF|WC|WF| FB |FC|UC|PJ|ZB
R MM| KK A [MM| KK A oy Koy K
25 |16 |M12x1.25|16 | 18 | M14x1.5 |18| 32 | 35 |RCi/8 | 3 |12|16|28| 8-26.6| 75 | 90 | 77 |150
32 |18 |M14x1.5 |18 |22 | Mi6x1.5 22| 40 | 42 |Rc1/4 | 3 |16|16|32| 8-29 | 92 |110|89|170
40 |22|M16x1.5 |22 |28 | M20x1.5 28| 50 | 55 3 |16 |16 |32 | 8-29 |106|125| 97 |190
RC3/8
50 |28 |M20x1.5 |28 |36| M27x2 36| 60 | 65 4 |20|18|38| 8-211 |126|150(111|205
63 |36|M27x2 |36 |45|M33x2 |45| 70 | 76 4 | 25|20 45| 8-014 |145|170[117|224
RC1/2
80 |45|M33x2 |45 |56 | M42x2 56| 85 | 95 4 |32|22|54| 8-018 |165|195|134|250
100 |56 |M42x2  |56|70| M48x2 |63 [106| 114 5 |32 |25|57 | 8-022 | 200|240 162|300
RC3/4
125 |70|M48x2 |63 |90 | M64x3 |85 |132 140|145 5 |32 |28 60| 8-022 |235|275|174|325
160 |90|M64x3 |85 110 M80x3 |95 |160 178|185 5 | 36|30 66| 8-022 |280|320[191|370
RC1
200 |110{M80x3 |95 [140| M100x3 [112| 200|216 |232 5 |40 |35 |75 | 8-026 | 340|385 |224|450
250 |140[M100x3 [112]180| M125x4 [125| 250|267 | 298 8 |56 |40 |96 | 8-933 |420|490| - |550
RC1 1/4
320 |180|M125x4 |125|220| M160x4 |160| 320 352|380 8 | 63|45 [108| 8-939 |520|600| - |660
400 |220|M160x4 |160(280| M200x4 |200|400| - | - 10 | 80 | 50 [130| 8-245 |640|730| - [740
RC1 1/2
500 |280|M200x4 |200(360| M250x6 [250|500| - | — 10 |100| 63 [163|12-45 | 720|810| - |890

266

\

o OAW

—g\ =\ —\ =\
TNz u

W

e ANE=ANANARGN AN,
2ANIMEF L\ NI

\"H‘EIE»\\ S—
=

=

f\\—‘@,\'

S,
ju|

\—%VCVﬁHW

/

5

pJ|

|

3

y

I

v

')

<

1
/




JFC RD h& 48—

e MF4 ~v AR 25 > O (FD)

PJ+ R bA—=% ‘ ]
2-ee | F=
[ i A
=< ) g 3
WF |NE|
A ZP+Z kO—%
iLs c - iLs C -
RN EMTIEST mE a5k
25 | 40 | 40 |<2 | 125 |[140|145|<3
32 |52 |52 |<2| 160 |178|185|<3
ASRIEm 40 | 55 | 65 |<2 | 200 |216|232|<3
e FXrOw KEDIOLIEDRINF 50 65 | 75 | <2 | 250 | 267|298 4
BTHERIISDEARE SR, 63 | 76 | 88 |<2 | 320 |352 380 <4
80 | 95 | 95 <2 | 400 | - | - |<4
100 |114 [122 |<2 | 500 | - | - |<4
1512 cayF BOw K D
—— EE |NF|WF| FB |FC |UC | PJ| zP
MEN MM| KK | A MM| KK | A |58,
25 |16 |M12x1.25| 16 | 18 | M14x1.5| 18 35 RC1/8 | 12 | 28 | 8-g6.6 | 756 | 90 | 77 | 162
32 |18 |M14x1.5 | 18|22 |M16x1.5| 22 42 RC1/4 | 16 | 32 | 8-g9 | 92 | 110 | 89 | 186
40 |22 |M16x1.5 | 22| 28 | M20x1.5 | 28 55 16 | 32 | 8-¢9 | 106 | 125 | 97 | 206
RC3/8
50 |28 |M20x1.5 | 28|36 | M27x2 |36 65 20 | 38 | 8-g11 | 126 | 150 | 111 | 225
63 |36 |M27x2 | 36| 45| M33x2 |45 76 noip | 25 | 45 | 8214 | 145 | 170 | 117 | 249
80 |45|M33x2 | 45|56 | M42x2 |56 95 32 | 54 | 8-p18 | 165 | 195 | 134 | 282
100 |56 |M42x2 | 56|70 | M48x2 |63 | 114 | . |32 |57 | 8-922 | 200 | 240 | 162 | 332
125 |70 |M48x2 | 63| 90 | M64x3 |85 |140 | 145 32 | 60 | 8-p22 | 235 | 275 | 174 | 357
160 |90 |M64x3 | 85|110| M80x3 |95 178|185 | _ |36 |66 | 8-022 | 280 | 320 | 191 | 406
200 [110|M80x3 | 95 [140| M100x3 |112|216 | 232 40 | 75 | 8-026 | 340 | 385 | 224 | 490
250 |140|M100x3 |112[180| M125x4 125|267 |298 | |56 | 96 | 8-033 | 420 | 490 | - | 606
1/4
320 [180|M125x4 |125(220| M160x4 (160|352 | 380 63 |108| 8-239 | 520 | 600 | - | 723
400 |220|M160x4 |160|280| M200x4 |200| - | - | _ 80 |130| 8-p45 | 640 | 730 | - | 820
1/2
500 |280|M200x4 |200|360| M250x6 |250| - | - 100 | 163 |12-¢45 | 720 | 810 | - | 990

267



JFC

e MP3 1LY L EX#(CA)

RD HhE) /58—

PJ+RX kE—%
2-EE
A
P  SBE AT
=R 0 £ 2 )-) st \
S N &J S \‘\\ /,‘
N
L EW
A XC+ A +kO—%
Hek= C - 5 C -
C B C B
- nE =Aa=F1 ME AN EAN
25 | 40 | 40 |<2 | 125 | 140|145 | <3
32 | 52 | 52 [<2| 160 |178|185|<3
N 40 | 55 | 65 |<2 | 200 |216|232|<3
ABRIEE 50 65 | 75 |<2 | 250 | 267|298 | <4
® EXbhrOy FEOOUEDR/NF 63 | 76 | 88 |<2 | 320 | 352|380 |<4
B TIERIISDEAE TSR FZELY, 80 95 | 95 | <2 | 400 _ _ 4
100 | 114 |122 | <2 | 500 - - | <4
Hon= cayFk BAw K D
) EE L | cD| EW | MR | PJ | XC
KR MM| KK A [MM| KK A RS kladk
25 |16 |M12x1.25| 16 | 18 | M14x1.5| 18 35 Rci/8 | 16 | 12 | 12 | 16 | 77 | 178
32 |18 | M14x1.5 | 18 | 22 | M16x1.5 | 22 42 RCi/4 | 20 | 16 | 16 | 20 | 89 | 206
40 |22 | M16x1.5 | 22 | 28 | M20x1.5 | 28 55 25 | 20 | 20 | 25 | 97 | 231
RC3/8
50 |28 | M20x1.5 | 28 | 36 | M27x2 | 36 65 32 | 25 | 25 | 28 | 111 | 257
63 |36 | M27x2 | 36| 45| M33x2 | 45 76 40 | 32 | 32 | 35 | 117 | 289
RC1/2
80 |45 | M33x2 | 45|56 |M42x2 |56 95 50 | 40 | 40 |44.5| 134 | 332
100 |56 | M42x2 | 56 |70 | M48x2 |63 114 63 | 50 | 50 | 54 | 162 | 395
RC3/4
125 | 70 | M48x2 63 | 90 | M64x3 | 85| 140 | 145 71 63 63 66 174 | 428
160 |90 | M64x3 | 85|110/ M80x3 | 95| 178 | 185 90 80 80 84 | 191 | 505
RC1
200 |110| M80x3 | 95 [140| M100x3 [112| 216 | 232 112 | 100 | 100 | 105 | 224 | 615
250 |140| M100x3 |112[180| M125x4 [125| 267 | 298 160 | 125 | 125 | 131 | - | 773
RC1 1/4
320 |180| M125x4 |125(220| M160x4 |160| 352 | 380 200 | 160 | 160 | 163 | - | 930
400 |220| M160x4 |160(280| M200x4 [200| — - 250 | 200 | 200 | 210 - 990
RC11/2
500 |280| M200x4 |200|360| M250x6 |250| — | - 320 | 250 | 250 | 270 | - |1210

268

\

—aU SN
¢ OAN

e ANE=ANANANGNAN) —g\ =\
2ANIIEE NN EA N PANGH

S~
<

~,
ju|

\—%VCVﬁHW

\ e \




JFC RD hE) 48—

e MP5 1lU% L E REkEEH 7 (CAB)

PJ+ X kO—%
2-EE
N 7 Vi
i [ o i A o f .,
2% i s : &{{“&’ \ &
— MS \\,,
LT EX
A XO+R kA—% s
A= C - k=] C T
, C .| B ) c .| B
nE ayr[Oyk mE avk|oyE
25 | 40 | 40 |<2 | 125 |140]145|<3
32 |52 |52 [<2]| 160 | 178|185 | =<3
40 | 55 | 65 |<2 | 200 |216]|232|<3
AERIEME 50 | 65 | 75 |<2 | 250 |267 |298 | <4
e FXrOy KEGIOLIEDR/INF 63 76 | 88 | =2 | 320 | 352|380 | =<4
ETERIISDEAEZF CSHEC L, 80 95 | 95 | =2 | 400 = - | =4
100 |114 |122 | <2 | 500 I
k=2 cay kR BOw K D
T8 EE LT| cD |EX|MS| PJ| XO| s
mE N MM| KK A [MM| KK A aSkaSk
25 |16 |M12x1.25|16 | 18 | M14x1.5 | 18 35 RCi/8 | 16 | 12 |12 | 16 | 77 | 178 | 12
32 | 18| M14x1.5 | 18| 22| M16x1.5 | 22 42 RC1/4 | 20 | 16 | 16 | 20 | 89 | 206 | 16
40 |22| M16x1.5 |22 | 28 | M20x1.5 | 28 55 25 | 20 |20 | 25 | 97 | 231 | 20
RC3/8
50 |28| M20x1.5 |28 |36| M27x2 | 36 65 32 | 25 |23 | 28 | 111 | 257 | 25
63 |36| M27x2 |36 45| M33x2 | 45 76 40 | 32 | 28 | 35 | 117 | 289 | 32
RC1/2
80 |45| M33x2 |45|56| M42x2 |56 95 50 | 40 | 33 |44.5| 134 | 332 | 40
100 | 56| M42x2 |56 | 70| M48x2 |63 114 63 | 50 | 41 | 54 | 162 | 395 | 50
RC3/4
125 | 70| M48x2 |63 |90| M64x3 | 85| 140/ 145 71| 63 | 53 | 66 | 174 | 428 | 63
160 | 90| M64x3 |85 110/ M80x3 | 95| 178 185 90 | 80 |67 | 84 | 191 | 505 | 80
RCA
200 [110| M80x3 |95 [140| M100x3 |112| 216 | 232 112|100 | 85 | 105 | 224 | 615 | 100
250 [140| M100x3 |112]180| M125x4 |125| 267 | 298 160 | 125 (103|131 | - | 773 | 125
RC1 1/4
320 [180| M125x4 |125/220| M160x4 |160| 352 | 380 200 | 160 |130| 163 | - | 930 | 160
400 |220| M160x4 |160|280| M200x4 200 - | - 250 | 200 |162| 210 | - | 990 | 200
RC1 1/2
500 280 M200x4 |200|360| M250x6 |250| - | - 320 | 250 |210| 270 | - |1210] 250

269



JFC

o MS2 EEFMAJME T— M (LA)

RD HhE) /53—

s PJ+R kO—% s
2-EE ‘
T A
AN I P (K
= | (@] N 1 it
g > S I ;* \
] b / ?SB
L i D i LilT
TS
A Ixg SS+X kB—% us
e C ERE= o}
P (¢} B T P © B T
NE Ow Koy K AE Oy Kloy R
25 40 40 2 80 95 95 2
32 52 52 2 100 114 | 122 | <2
AEBIEm
40 55 65 | <2 125 140 | 145 | <3
o EXtrAY FEGIOULEDR/F 50 |65 | 75 |<2| 160 |178]185]|<3
%Tl'iii(iSD%ZFﬁ?é‘ :%Eﬁ( Tfé L\o 63 76 88 =2 200 216 | 232 | <3
Eis) =P BAY K
EE S XS | ST|SB| TS | US| PJ | SS H
REN| MM KK A [MM| KK A
25 16 M12x1.25 | 16 | 18 | M14x1.5 | 18 | RC1/8 | 20 18 32 9 75 92 77 | 142 | 12
32 18 M14x1.5 18 | 22 | M16x1.5 |22 | RC1/4 | 25 |19.5| 38 | 11 90 |110| 89 | 163 | 16
40 22 M16x1.5 22 | 28 | M20x1.5 | 28 25 |19.5| 483 | 11 100 (120 | 97 | 183 | 26
RC3/8
50 28 M20x1.5 28 | 36 | M27x2 36 32 22 52 | 14 | 120 (145|111 | 199 | 25
63 36 M27x2 36 | 45 | M33x2 45 32 | 29 62 |18 | 150 | 180 [ 117 | 211 | 25
RC1/2
80 45 M33x2 45 | 56 | M42x2 56 40 | 34 | 70 | 22 | 170 (210|134 | 236 | 30
100 56 M42x2 56 | 70 | M48x2 63 50 32 82 | 26 | 205 | 250 | 162 | 293 | 35
RC3/4
125 70 M48x2 63 | 90 | M64x3 85 56 32 |100 | 33 | 245 [300 174 | 321 | 35
160 90 M64x3 85 |110| M80x3 95 60 | 36 [119 | 33 | 295 (350 | 191 | 364 | 45
RC1
200 110 | M80x3 95 |140| M100x3 (112 72 | 39 [145 | 39 | 350 (415|224 | 447 | 50

\

o OAW

— U SULINY — o\ — o\
2ANIMEF L\ NN AN DA

S~—
-

H> f\\—\@\'C\"Hé“E»\\

270



JFC RD h& ) 48—
S RPN

e MT4 mfE b5 =74 /2 (TC)

PJ+ XA kA—%
2-EE ‘
T T T mA
S P T
7w i Pl
J'/% o0 = ) 0 an I o
ok = S
— A =T N N | |
\ "
WF BD
TL ™ TL, XV+R bEO—5/2
UM A ZB+X kA—%
k=3 - C - T Haa=3 - C = T
RE AN E=EAN NE OovK|ayk

25 40 40 | =2 125 140 | 145 | =<3
32 52 52 | =2 160 178 | 185 | <3
40 55 65 | =2 200 216 | 232 | =3

hvd
ARBLEE 50 65 | 75 |<2 | 250 |267|298 | <4
e EXtrOy FEGIOULDR/NF 63 | 76 | 88 |<2 | 320 |352|380|=4
BTERIISDEAR Z TSHB E &0, 80 95 | 95 | <2 | 400 _ _ | =a
100 |114 |122 |<2 | 500 - - | =a
ey cAyk BOwY K D
> CRNE EE |VE |WF|BD|TD|TM|TL | UM |PJ|XV |ZB
MENMM| KK A [MM| KK A [nSklaBe
25 | 16 [M12x1.25| 16| 18 [M14x1.5[18| 35 RC1/8 |15 |28 |18 |12 |63 |10 | 83 |77 | 90 [150
32 |18 [M14x1.5 | 18|22 [M16x1.5[22| 42 RC1/4 |19 |32 |22 |16 | 75|12 | 99 | 89 106|170
40 |22 |M16x1.5 |22|28 |[M20x1.5[28| 55 19 |32 |28 |20 | 90|16 |122|97 [116]190
RC3/8
50 |28 |M20x1.5 |28|36 |M27x2 [36| 65 24 |38 | 33|25 |105| 20 | 145 [111]123|205
63 |36 |M27x2 |36|45|M33x2 [45| 76 29 |45 | 43|32 [120] 25 | 170 [117|140|224
RC1/2
80 |45 |M33x2 |45|56 |[M42x2 [56| 95 36 |54 | 53 | 40 |135| 32 | 199 [134|159|250
100 |56 [M42x2 |56 |70 |M48x2 |63| 114 37 |57 | 58 | 50 |160]| 40 | 240 |162|182|300
RC3/4
125 |70 |M48x2 | 63|90 |M64x3 |85 |140(145 37 |60 | 78 | 63 [195| 50 | 295 |174|197|325
160 |90 |M64x3 | 85[110/M80x3 |95 | 178|185 41 |66 | 98 | 80 |240| 63 | 366 [191|231|370
RC1
200 [110|M80x3 |95 [140| M100x3 [112| 216|232 45 |75 |117|100|295| 80 | 455 |224|288|450
250 |140|M100x3 |112/180| M125x4 |125| 267|298 64 |96 [148]125|370[100| 570 | - | - |550
RC11/4
320 |180|M125x4 |125(220| M160x4 |160| 352|380 71 [108|186(160|470[125| 720 | - | - |660
400 |220|M160x4 |160|280| M200x4 |200| - | — 90 [130(230(200(570[160| 890 | - | - |740
RC11/2
500 |280|M200x4 |200|360| M250x6 |250| — | — 110 [163|280|250(700|250(1200| - | - |890

271



N0 DL
:/”/s/\nafl

//

ML
:/”/s/wall

\

DINADRMNX N R
.7_7 s/oj :/”I s/wQ/l

RD HhE) /53—

JFC

e MEMO

272



